@ ? = RAERAER

BE: BiCh:_ 237
X+ 4 —39x— 126 =0 43 — 13x% — 242x+315=0

2 = 173> +33x—18=0 6x° + 13x° — 75x+ 50 = 0

X+ 14¢% +48x = 0 X =15 +74x - 120 =0

X =2 —x+2=0 3 — 22 +3x+28 =0

X+ 3% —Tx-315=0 X —2¢ —48x =0
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IRE®Y

= RAEXEMH

BE_

X+ 4> —39x— 126 = 0
x=-3,-7.6

20 —17x* +33x— 18 =0
3

-, 1,6
2

x:

X+ 147 +48x =0
x=—6,-8,0

X =27 —x+2=0
x=-1,1,2

X +3x7—73x-315=0
x=-5,-7.9

HIZh: A7

43 — 132 - 242x+315=0

x:

5
-,—7,9
4

6x° + 13x2 — 75x+ 50 = 0
2,5

x:

ANl

X = 15x° +74x—120=0
x=5,4.6

36 — 222 +3x+ 28 = 0
4

x=-,—1,7
3

X —2¢ —48x =0
x=-6,8,0
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